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(First Section) ÁFke [k.M 
(Thermodynamics & Kinetic theory of Gases) 

1. The average energy of a Plank’s 

oscillator is given by : 

(A)   ∈ഥ= ℎݒ 

(B) ∈ഥ= ℎݒ
⁄ܶܭ  

(C) ∈ഥ= ௛௩
(௘ℎݒ ൗܶܭ ିଵ)

 

(D) ∈ഥ= ௛௩
(௘ℎݒ ൗܶܭ ାଵ)

 

  1. Iykad nksfy= dh ek/; ÅtkZ fuEu :i esa 

nh tkrh gS % 

(A)   ∈ഥ= ℎݒ 

(B) ∈ഥ= ℎݒ
⁄ܶܭ  

(C) ∈ഥ= ௛௩
(௘ℎݒ ൗܶܭ ିଵ)

 

(D) ∈ഥ= ௛௩
(௘ℎݒ ൗܶܭ ାଵ)

 

2. In a porous plug process the 

initial and final enthalpies of the 

system are :  

(A)   Equal 

(B) Different 

(C) Zero 

(D) Double 

  2. ljU/kz MkV izØe esa fudk; dh izkjfEHkd o 

vfUre ,UFkSYih gksrh gS % 

(A) leku 

(B) fHkUu 

(C) ‘kwU; 

(D) nksxquh 

3. The relation among all Critical 

constants is given by : 

(A)   ோ ்಴
௉಴ ௏಴

= ଼
ଷ
 

(B) ோ ௏಴
்಴௉಴

= ଼
ଷ
 

(C) ோ ௉಴
்಴ ௏಴

= ଼
ଷ
 

(D) None of these 

  3. lHkh ØkfUrd ekuks ds chp lgh lEcU/k 

fuEu gS % 

(A)   ோ ்಴
௉಴ ௏಴

= ଼
ଷ
 

(B) ோ ௏಴
்಴௉಴

= ଼
ଷ
 

(C) ோ ௉಴
்಴ ௏಴

= ଼
ଷ
 

(D) buesa ls dksbZ ugha 
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4. Work done in an isothermal 

change in a gas is : 

(A)   ܹ = ܶ log௘
ܸ2

ܸ1
ൗ  

(B) ܹ = ܴ log௘൫
ܸ2

ܸ1
ൗ ൯ 

(C) ܹ = ܴܶ logଵ଴൫
ܸ1

ܸ2
ൗ ൯ 

(D) ܹ = ܴܶ log௘൫
ܸ2

ܸ1
ൗ ൯ 

  4. ,d xSl esa lerkih cnyko esa fd;k x;k 

dk;Z gksrk gS % 

(A)   ܹ = ܶ log௘
ܸ2

ܸ1
ൗ  

(B) ܹ = ܴ log௘൫
ܸ2

ܸ1
ൗ ൯ 

(C) ܹ = ܴܶ logଵ଴൫
ܸ1

ܸ2
ൗ ൯ 

(D) ܹ = ܴܶ log௘൫
ܸ2

ܸ1
ൗ ൯ 

5. According to Maxwell’s speed 

distribution law, the average 

speed < ݒ >= vത of molecules of 

a gas is: 

(A)   ଷ௄்
௠

 

(B) ට଼௄்
௠

 

(C) ටଷ௄்
௠

 

(D) ටଶ௄்
௠

 

  5. eSDlosy ds pky forj.k fu;e ds vuqlkj] 

vkSlr pky < ݒ >= vത fdlh xSl ds 

fy;s gksrh gS % 

(A)   ଷ௄்
௠

 

(B) ට଼௄்
௠

 

(C) ටଷ௄்
௠

 

(D) ටଶ௄்
௠

 

6. The following substance absorbs 

thermal radiations : 

(A)   NaCl 

(B) KCl 

(C) Glass 

(D) NaBr 

  6. fuEu inkFkZ Å”eh; fofdj.k dks vo’kksf”kr 

djrs gS % 

(A)   NaCl 

(B) KCl 

(C) dkWp 

(D) NaBr 



Series-C B.Sc. – B010201T / K-251 Page - 5 

7. Enthalpy of a system can be 

written as : 

(A)   ܪ = ܷ + ܳ 

(B) ܪ = ܷ + ܸܲ 

(C) ܪ = ܳ + ܸܲ 

(D) None of these 

  7. fdlh fudk; dh ,UFkSYih dks fuEu izdkj 

ls fy[krs gSa %  

(A)   ܪ = ܷ + ܳ 

(B) ܪ = ܷ + ܸܲ 

(C) ܪ = ܳ + ܸܲ 

(D) buesa ls dksbZ ugha 
8. Rayleigh-Jeans law is a special 

case of Plank’s law for : 

(A)   Smaller Wavelengths 

(B) Longer Wavelengths 

(C) All Wavelengths 

(D) None of the above 

  8. jSys&thal lw=] Iykad lw= dh fo’ks”k voLFkk 

gS % 

(A) NksVh rjaxnS/;ksZ ds fy;s 

(B) cM+h rjaxnS/;ksZ ds fy;s 

(C) lHkh rjaxnS/;ksZ ds fy;s 

(D) mijksDr esa ls dksbZ ugha 

9. In an isobaric process work done 

is: 

(A)   ܹ = ܴܶ logୣ ቀ
ܸ2

ܸ1
ൗ ቁ 

(B) ܹ = ோ
ఊିଵ

( ଵܶ − ଶܶ) 

(C) ܹ = )ߩ ଶܸ − ଵܸ) 

(D) ܹ = 0 

  9. ,d lenkch izØe esa fd;k x;k dk;Z gksrk 

gS % 

(A)   ܹ = ܴܶ logୣ ቀ
ܸ2

ܸ1
ൗ ቁ 

(B) ܹ = ோ
ఊିଵ

( ଵܶ − ଶܶ) 

(C) ܹ = )ߩ ଶܸ − ଵܸ) 

(D) ܹ = 0 

10. Clausius Clapeyron heat equation 

is :  

(A)   ௗ௉
ௗ்

= ௅
௉(௏మି௏భ)

 

(B) ௗ௉
ௗ்

= ௅
௏(௉మି௉భ)

 

(C) ௗ௉
ௗ்

= ௅
்(௏మି௏భ)

 

(D) ௗ௉
ௗ௏

= ௅
்(௏మି௏భ)

 

  10. DykWfl;l&DySisjku lehdj.k gS % 

(A)   ௗ௉
ௗ்

= ௅
௉(௏మି௏భ)

 

(B) ௗ௉
ௗ்

= ௅
௏(௉మି௉భ)

 

(C) ௗ௉
ௗ்

= ௅
்(௏మି௏భ)

 

(D) ௗ௉
ௗ௏

= ௅
்(௏మି௏భ)
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11. Poisson’s equation is : 

(A)   ܲ ܸ = constant 

(B) ܸܲఊ = constant 

(C) ܲఊܸ = constant 

(D) ܸܲିఊ = constant 

  11. ikW;lu dk lehdj.k gS % 

(A)   ܲ ܸ = fu;rkad 

(B) ܸܲఊ = fu;rkad 

(C) ܲఊܸ = fu;rkad 

(D) ܸܲିఊ = fu;rkad 

12. Under Joule Thomson effect, the 

change in temperature is given by 

: 

(A)   Δܶ = ୼୔
େ౒
ቀଶ௔
௕
− ܴܶቁ 

(B) Δܶ = ୼୔
େ౒
ቀଶ௔
ோ்
− ܾቁ 

(C) Δܶ = ୼୔
େ౒
ቀଶ௔௕

ோ
− ܶቁ 

(D) None of these 

  12. twy FkkWelu izHkko esa] rki esa ifjorZu ds 

fy;s O;atd fuEu ls fn;k tkrk gS % 

(A)   Δܶ = ୼୔
େ౒
ቀଶ௔
௕
− ܴܶቁ 

(B) Δܶ = ୼୔
େ౒
ቀଶ௔
ோ்
− ܾቁ 

(C) Δܶ = ୼୔
େ౒
ቀଶ௔௕

ோ
− ܶቁ 

(D) buesa ls dksbZ ugha 

13. Joule Thomson effect for a 
perfect gas is : 
(A)   Infinity 
(B) Zero 
(C) Indeterminate 
(D) None of these 

  13. vkn’kZ xSl ds fy;s twy FkkWelu izHkko 

gksrk gS % 

(A) vuUr 

(B) ‘kwU; 

(C) vfuZ/kkfjr 

(D) buesa ls dksbZ ugha 

14. The Quantity (ܷ + ܸܲ) is known 

as : 

(A)   Entropy 

(B) Enthalpy 

(C) Total energy 

(D) None of these 

  14. jkf’k (ܷ + ܸܲ)dks dgrs gSa % 

(A) ,sUVªkih 

(B) ,UFkSYih 

(C) dqy ÅtkZ 

(D) buesa ls dksbZ ugha 
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15. The correct equation for a Van 

der Waal’s gas is : 

(A)   ቀܲ + ௔
௏
ቁ (ܸ − ܾ) = ܴܶ 

(B) ቀܲ + ௔
௏మ
ቁ (ܸ + ܾ) = ܴܶ 

(C) ቀܲ + ௔
௏మ
ቁ (ܸ − ܾ) = ܴܶ 

(D) None of these 

  15. oku Mj oky xSl lehdj.k dk lgh :i 

fuEu gS % 

(A)   ቀܲ + ௔
௏
ቁ (ܸ − ܾ) = ܴܶ 

(B) ቀܲ + ௔
௏మ
ቁ (ܸ + ܾ) = ܴܶ 

(C) ቀܲ + ௔
௏మ
ቁ (ܸ − ܾ) = ܴܶ 

(D) buesa ls dksbZ ugha 

16. For a thermodynamic system, 

work done in a process depends 

upon : 

(A)   The path 

(B) State of the system 

(C) External pressure 

(D) Nature of the system 

  16. Åek xfrdh; fudk; ds fy;s ,d izØe esa 

fd;k x;k dk;Z fuHkZj djrk gS % 

(A) iFk ij 

(B) fudk; dh voLFkk ij 

(C) ckgjh nokc 

(D) fudk; dh izÑfr ij 

17. The internal energy of an ideal 

gas is independent of its volume 

at constant temperature. This law 

is known as : 

(A)   Newton’s law 

(B) Joule’s law 

(C) Stefan’s law 

(D) Van der Waal’s law 

  17. fu;r rki ij ,d vkn’kZ xSl dh vkUrfjd 

ÅtkZ blds vk;ru ij fuHkZj ugha djrhA 

bl fu;e dks dgrs gaS % 

(A) U;wVu dk fu;e 

(B) twy dk fu;e 

(C) LVhQu dk fu;e 

(D) oku Mj oky dk fu;e 
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18. The wrong relation is : 

(A)   ܲ ܸ = ܴܶ 

(B) ܥ௉ − ௏ܥ = ܴ 

(C) ܸܲఊ = constant 

(D) ஼ು
஼ೇ

= ܴ 

  18. xyr lEcU/k gS % 

(A)   ܲ ܸ = ܴܶ 

(B) ܥ௉ − ௏ܥ = ܴ 

(C) ܸܲఊ = fu;rkad 

(D) ஼ು
஼ೇ

= ܴ 

19. Wien’s law is a special case of 

Plank’s law for : 

(A)   Smaller wavelengths 

(B) Longer wavelengths 

(C) All wavelengths 

(D) None of the above 

  19. ohu dk fu;e] ¶ykad lw= dh ,d fo’ks”k 

voLFkk gS % 

(A) NksVh rjaxnS/;ksZ ds fy;s 

(B) cM+h rjaxnS/;ksZ ds fy;s 

(C) lHkh rjaxnS/;ksZ ds fy;s 

(D) mijksDr esa ls dksbZ ugha 

20. Maxwell’s important thermo-

dynamical relations are : 

(A)   4 

(B) 2 

(C) 8 

(D) 6 

  20. eSDlosy ds eq[; Å”ekxfrdh; lEcU/k gS % 

(A)   4 

(B) 2 

(C) 8 

(D) 6 

21. For a triatomic gas, the value of ߛ 

becomes : 

(A)   1.40 

(B) 1.33 

(C) 1.66 

(D) 2.00 

  21. ,d f=ijek.kqd xSl ds fy;s ߛ dk eku 

gksrk gS % 

(A)   1.40 

(B) 1.33 

(C) 1.66 

(D) 2.00 
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22. The change in entropy of a 

system is defined by : 

(A)   ொ
்
 

(B) VT 

(C) ܲൗܸ  

(D) ܸܲ 

  22. fdlh fudk; esa ,sUVªkih ifjorZu fuEu }kjk 

fn;k tkrk gS % 

(A)   ொ
்
 

(B) VT 

(C) ܲൗܸ  

(D) ܸܲ 

23. Which of the following is not 

Maxwell’s equation : 

(A)   ቀడௌ
డ௏
ቁ
்

= ቀడ௉
డ்
ቁ
௏
 

(B) ቀడ்
డ௏
ቁ
ௌ

= −ቀడ௉
డௌ
ቁ
௏
 

(C) ቀడ௏
డ௉
ቁ
ௌ

= ቀడ்
డௌ
ቁ
௉
 

(D) ቀడ்
డ௉
ቁ
ௌ

= ቀడ௏
డௌ
ቁ
௉
 

  23. fuEu esa ls dkSu eSDlosy dk lehdj.k ugha 

gS % 

(A)   ቀడௌ
డ௏
ቁ
்

= ቀడ௉
డ்
ቁ
௏
 

(B) ቀడ்
డ௏
ቁ
ௌ

= −ቀడ௉
డௌ
ቁ
௏
 

(C) ቀడ௏
డ௉
ቁ
ௌ

= ቀడ்
డௌ
ቁ
௉
 

(D) ቀడ்
డ௉
ቁ
ௌ

= ቀడ௏
డௌ
ቁ
௉

 

24. For giving energy distribution in 

thermal spectrum Rayleigh and 

Jeans considered : 

(A)   Dynamical mechanics 

(B) Statistical mechanics 

(C) Quantum mechanics 

(D) All above 

  24. jSys o thal us Å”eh; LisDVªe esa ÅtkZ 

forj.k crkus ds fy;s fdl ;kaf=dh dk 

iz;ksx fd;k x;k % 

(A) xfrdh ;kaf=dh 

(B) lkaf[;dh ;kaf=dh 

(C) DokUVe ;kaf=dh 

(D) mijksDr lHkh 

25. The colours of a star indicates its : 

(A)   Mass 

(B) Size 

(C) Distance 

(D) Temperature 

  25. rkjs dk jax iznf’kZr djrk gS % 

(A) nzO;eku 

(B) vkdkj 

(C) nwjh 

(D) rki 
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26. For a Carnot engine : 

(A)   ொభ
ொమ

= భ்

మ்
 

(B) ொభ
ொమ

= మ்

భ்
 

(C) Both (A) and (B) 

(D) None of the above 

  26. ,d dkuksZ batu ds fy;s % 

(A)   ொభ
ொమ

= భ்

మ்
 

(B) ொభ
ொమ

= మ்

భ்
 

(C) nksuksa (A) rFkk (B) 

(D) mijksDr esa ls dksbZ ugha 

27. Wien’s displacement law states 

that : 

(A)   ߣ௠ × ܶ = constant 

(B) (ߣ௠/ܶ) = constant 

(C) (ܶ/ߣ௠) =constant 

(D) None 

  27. ohu dk foLFkkiu dk fu;e fuEufyf[kr gS% 

(A)   ߣ௠ × ܶ = fu;rkad 

(B) (ߣ௠/ܶ) = fu;rkad 

(C) (ܶ/ߣ௠) = fu;rkad 

(D) buesa ls dksbZ ugha 

28. The efficiency of a Carnot engine 

is given by : 

(A)   Work output/ Heat input 

(B) 1 − మ்

భ்
 

(C) 1 − ொమ
ொభ

 

(D) All of above 

  28. ,d dkuksZ batu dh n{krk nh tkrh gS % 

(A) fuxZr dk;Z@fuos’kh Å”ek 

(B) 1 − మ்

భ்
 

(C) 1 − ொమ
ொభ

 

(D) mijksDr lHkh 

29. The best example of Brownian 

motion is : 

(A)   N.C.C. parade 

(B) Smoke particle in air 

(C) Flow of liquid in a tube 

(D) None of these 

  29. czkmfu;u xfr dk lcls vPNk mnkgj.k gS% 

(A) N.C.C. ijsM 

(B) ok;q esa /kq,¡ ds d.k 

(C) uyh esa nzo dk izokg 

(D) buesa ls dksbZ ugha 
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30. A body whose absorptivity is 

unity for all wavelengths is called 

: 

(A)   Yellow body 

(B) White body 

(C) Black body 

(D) Blue body 

  30. ,d fiaM ftldh lHkh rajxnS/;Z ds fy;s 

vo’kks”kdrk ,dkad gksrh gS] dgykrk gS % 

(A) ihyk fiaM 

(B) ‘osr fiaM 

(C) Ñf”.kdk fiaM 

(D) uhy fiaM 

31. Transportation of any quantityin a 

gas occurs only when : 

(A)   Gas is in equilibrium 

(B) Gas is in inequilibrium 

(C) Gas is in any state 

(D) None of the above 

  31. xSl esa fdlh jkf’k dk vfHkxeu dsoy rHkh 

gksrk gS tc % 

(A) xSl lkE;koLFkk esa gks 

(B) xSl lkE;koLFkk esa u gks 

(C) xSl fdlh Hkh voLFkk esa gks 

(D) mijksDr esa ls dksbZ ugha 

32. In free expansion : 

(A)   No heat enters or leave the 

system 

(B) No work is done by or on 

the system 

(C) Both (A) and (B) 

(D) None of the above 

  32. eqDr izlkj esa % 

(A) fudk; esa Å”ek u rks ckgj tk 

ldrh gS vkSj u vUnj vk ldrh gS 

(B) fudk; }kjk ;k fudk; ij dksbZ dk;Z 

ugha gksrk 

(C) nksuksa (A) rFkk (B) 

(D) mijksDr esa ls dksbZ ugha 

33. On increasing the pressure, the 

melting point of ice : 

(A)   Decreases 

(B) Increases 

(C) Remains constant 

(D) None of these 

  33. nkc c<+kus ij cQZ dk xyuk¡d % 

(A) ?kVrk gS 

(B) c<+rk gS 

(C) fu;r jgrk gS 

(D) buesa ls dksbZ ugha 
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34. The thermodynamical potentials 

are : 

(A)   U, H, F, G 

(B) S, U, H, F 

(C) U, F, G, P 

(D) S, P, V, T 

  34. Å”ek xfrdh; iksVsfU’k;y gS % 

(A)   U, H, F, G 

(B) S, U, H, F 

(C) U, F, G, P 

(D) S, P, V, T 

35. Stefan-Boltzmann’s law is : 

(A)   ܧ = ସܶ)ߪ − ଴ܶ
ସ) 

(B) ܧ = )ߪ ଴ܶ
ସ − ܶସ) 

(C) ܧ = ܶ4 − ܶ0
4

ൗ ߪ  

(D) None of these 

  35. LVhQu&cksYV~teku dk fu;e gS % 

(A)   ܧ = ସܶ)ߪ − ଴ܶ
ସ) 

(B) ܧ = )ߪ ଴ܶ
ସ − ܶସ) 

(C) ܧ = ܶ4 − ܶ0
4

ൗ ߪ  

(D) buesa ls dksbZ ugha 

36. The second law of thermo- 

dynamics deals with : 

(A)   Conservation of energy 

(B) Conservation of heat 

(C) Conservation of momentum 

(D) Conversion of heat to work 

  36. Å”ekxfrdh; dk f}rh; fu;e lEcfU/kr gS% 

(A) ÅtkZ ds laj{k.k ls 

(B) Å”ek ds laj{k.k ls 

(C) laosx ds laj{k.k ls 

(D) Å”ek ds dk;Z ifjorZu ls 

37. For the adiabatic process of an 

ideal gas, the relation between 

pressure and volume is given by : 

(A)   ܲ ܸ = constant 

(B) ܸܲఊ = constant 

(C) ܲఊܸ = constant 

(D) None of the above 

  37. ,d vkn’kZ xSl esa :)ks”e izØe ds fy;s] 

nkc o vk;ru esa lEcU/k fuEu izdkj fn;k 

tkrk gS % 

(A)   ܲ ܸ = fu;rkad 

(B) ܸܲఊ = fu;rkad 

(C) ܲఊܸ = fu;rkad 

(D) mijksDr esa ls dksbZ ugha 



Series-C B.Sc. – B010201T / K-251 Page - 13 

38. Mean free path of a molecule 

depends upon : 

(A)   Square of the diameter of the 

molecule 

(B) The number of molecules 

per unit volume 

(C) Both (A) and (B) 

(D) None of the above 

  38. v.kqvksa dk ek/; eqDr iFk fuHkZj djrk gS % 

(A) v.kqvksa ds O;kl ds oxZ ij 

(B) izfr ,dkad vk;ru esa v.kqvksa dh 

la[;k ij 

(C) nksuksa (A) rFkk (B) 

(D) mijksDr esa ls dksbZ ugha 

39. The correct relation between ௥ܸ௠௦ 

and molecular weight M is : 

(A)   ܸ ௥௠௦ = ටܯ 3ܴܶ⁄  

(B) ௥ܸ௠௦ = ට3ܯ
ܴܶ⁄  

(C) ௥ܸ௠௦ = ට3ܴܶ

ܯ
 

(D) ௥ܸ௠௦ = ට ܯ

3ܴܶ
 

  39. v.kqHkkj M rFkk ௥ܸ௠௦ esa lgh lEcU/k fuEu 

gS% 

(A)   ܸ ௥௠௦ = ටܯ 3ܴܶ⁄  

(B) ௥ܸ௠௦ = ට3ܯ
ܴܶ⁄  

(C) ௥ܸ௠௦ = ට3ܴܶ

ܯ
 

(D) ௥ܸ௠௦ = ට ܯ

3ܴܶ
 

40. According to Stefan’s law the 

total amount of heat radiated by a 

perfect black body per second per 

unit area is directly proportional 

to the :  

(A)   Square of its absolute 

temperature 

(B) Fourth power of its absolute 

temperature 

(C) Its absolute temperature 

(D) None of the above 

  40. LVhQu fu;e ds vuqlkj] ,d vkn’kZ 

Ñf”.kdk ds ,dkad ì”B {ks=Qy ls izfr 

lsdsUM fofdfjr Å”ek vuqØekuqikrh gksrh gS% 

(A) blds ijerki ds oxZ ds 

(B) blds ijerki ds prqFkZ ?kkr ds 

(C) blds ijerki dss 

(D) buesa ls dksbZ ugha 
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41. During an adiabatic process, the 

quantity remain constant : 

(A)   Temperature 

(B) Internal Energy 

(C) Volume 

(D) None of the above 

  41. :)ks”e izØe esa fuEu jkf’k fu;r jgrh gS % 

(A) rki 

(B) vkUrfjd ÅtkZ 

(C) vk;ru 

(D) mijksDr esa ls dksbZ ugha 

42. According to Kinetic theory of 

gases, the molecules of a gas 

move in :  

(A)   Only one fixed direction 

(B) All possible directions 

(C) Along three axis 

(D) None of the above 

  42. xSl ds v.kqxfr ds fl)kUrkuqlkj xSl ds 

v.kq xfr djrs gS % 

(A) dsoy ,d fuf’pr fn’kk esa 

(B) lHkh lEHko fn’kkvksa esa 

(C) rhuks v{kks ds vuqfn’k 

(D) mijksDr esa ls dksbZ ugha 

43. At constant pressure, the volume 

of a given mass of gas is directly 

proportional to its absolute 

temperature. This law is stated as 

: 

(A)   Boyle’s Law 

(B) Charle’s Law 

(C) Dalton Law 

(D) None of these 

  43. fu;r nkc ij] xSl ds fn;s x;s nzO;eku 

dk vk;ru blds ijerki ds vuqØekuqikrh 

gksrk gSA ;g fu;e dgykrk gS % 

(A) ckW;y fu;e 

(B) pkYlZ fu;e 

(C) MkYVu fu;e 

(D) buesa ls dksbZ ugha 
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44. On a T-S diagram the isothermals 

are : 

(A)   Straight lines parallel to T-

axis 

(B) Straight lines parallel to S-

axis 

(C) Straight lines inclined to any 

angle 

(D) None of these 

  44. T-S vkjs[k ij lerkih; gksrs gSa % 

(A) T - v{k ds lekUrj lh/kh js[kk;sa 

(B) S - v{k ds lekUrj lh/kh js[kk;sa 

(C) fdlh dks.k ds >qdko ij lh/kh 

js[kk;sa 

(D) buesa ls dksbZ ugha 

45. The pressure of diffuse radiation 

is equal to : 

(A)   One third of radiated energy 

density 

(B) Two third of radiated energy 

density 

(C) Four third of radiated energy 

density 

(D) None of the above 

  45. folfjr gq;h fofdj.k dk nkc cjkcj gS % 

(A) mRlftZr ÅtkZ ?kuRo dk ,d frgkbZ 

(B) mRlftZr ÅtkZ ?kuRo dk nks frgkbZ 

(C) mRlftZr ÅtkZ ?kuRo dk pkj frgkbZ 

(D) mijksDr esa ls dksbZ ugha 

46. During an isothermal process, the 

quantity remain constant : 

(A)   Pressure 

(B) Volume 

(C) Temperature 

(D) All of the above 

  46. lerkih; izØe ds nkSjku fuEu jkf’k fu;r 

jgrh gS % 

(A) nkc 

(B) vk;ru 

(C) rki 

(D) mijksDr lHkh 
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47. At constant temperature, the 

product of pressure and volume of 

a given mass of gas is constant. 

This is known as : 

(A)   Boyle’s law 

(B) Charles’s law 

(C) Avogadro’s law 

(D) None of these 

  47. fu;r rki ij] xSl ds fn;s x;s nzO;eku ds 

nkc rFkk vk;ru dk xq.kuQy fu;r jgrk 

gSA ;g fu;e dgykrk gS % 

(A) ckW;y fu;e 

(B) pkYlZ fu;e 

(C) vkoksxknzks fu;e 

(D) buesa ls dksbZ ugha 

48. Total entropy change in Carnot 

cycle is : 

(A)   +ܳଵ
ଵܶ

ൗ  

(B) −ܳଶ
ଶܶ

ൗ  

(C) (ܳଵ −ܳଶ)
ଵܶ

ൗ  

(D) Zero 

  48. dkuksZ pØ esa dqy ,UVªkih ifjorZu gksrk gS % 

(A)   +ܳଵ
ଵܶ

ൗ  

(B) −ܳଶ
ଶܶ

ൗ  

(C) (ܳଵ −ܳଶ)
ଵܶ

ൗ  

(D) ‘kwU; 

49. Thermodynamical equilibrium 

means : 

(A)   Thermal equilibrium 

(B) Mechanical equilibrium 

(C) Chemical equilibrium 

(D) All of the above 

  49. Å”ekxfrd lkE;koLFkk dk vFkZ gS % 

(A) rkih; lkE;koLFkk 

(B) ;kaf=d lkE;koLFkk 

(C) jklk;fud lkE;koLFkk 

(D) mijksDr lHkh 

50. The ratio of two specific heat of a 

gas is given by : 

(A)   ߛ = 1 + ଶ
௡
 

(B) ߛ = 2 + ଵ
௡
 

(C) ߛ = 1 + 2݊ 

(D) None 

  50. xSl dh nks fof’k”V Å”ekvksa dh fu”ifr 

fuEu O;atd ls nh tk ldrh gS % 

(A)   ߛ = 1 + ଶ
௡
 

(B) ߛ = 2 + ଵ
௡
 

(C) ߛ = 1 + 2݊ 

(D) dksbZ ugha 
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(Second Section) f}rh; [k.M 
(Circuit Fundamentals & Semiconductor Devices) 

51. A galvanometer in series with a 
high resistance is called : 
(A)   An ammeter 
(B) A voltmeter 
(C) A wattmeter 
(D) None of the above 

 51. ,d xSYoSuksehVj ds Js.khØe esa mPp izfrjks/k 
yxus ij dgykrk gS % 
(A) ,d vehVj 
(B) ,d oksYVehVj 
(C) ,d okWVehVj 
(D) mijksDr esa ls dksbZ ugha 

52. What is the role of a rectifier in a 
multimeter ? 
(A)   Bias purpose 
(B) Thermal stability  
(C) Rectification 
(D) Inversion 

 52. eYVhehVj esa fn”Vdkjh dk D;k dk;Z ;k 
Hkwfedk gS \ 
(A) vfHkufr ds fy;s 
(B) m”eh; LFkkf;Ro 
(C) fn”Vdkfjrk 
(D) myVuk ;k O;qRØe 

53. A C.R.O. is used to measure : 
(A)   Voltage 
(B) Frequency 
(C) Phase 
(D) All of the above 

 53. ,d C.R.O. dk iz;ksx fuEu dks ukius esa 
djrs gS % 
(A) oksYVst 
(B) vkòfÙk 
(C) dyk 
(D) mijksDr lHkh 

54. Multimeter can be used as an 
ammeter by : 
(A)   Connecting series resistance  
(B) Making use of a transducer 
(C) Making use of a transformer 
(D) Connecting shunts 

 54. eYVhehVj dk iz;ksx vehVj dh rjg iz;ksx 
gksrk gS tc % 
(A) Js.khØe izfrjks/k yxkrs gSa 
(B) VªkalM~;wlj dk iz;ksx djrs gq;s 
(C) VªkalQkjej dk iz;ksx djrs gq;s 
(D) ‘kaV tksM+rs gq;s 

55. A cathode ray oscilloscope is used 
for measuring : 
(A)   d. c. or a. c. voltage 
(B) d. c. or a. c. current 
(C) Study of waveforms 
(D) All of the above 

 55. ,d dSFkksM fdj.k nksyun’khZ dk iz;ksx fuEu 
dks ukius esa fd;k tkrk gS % 
(A) d. c. ;k a. c. ¼oksYVst½ 
(B) d. c. ;k a. c. /kkjk 
(C) rjax dk Kku ;k Kkr djuk 
(D) mijksDr lHkh 
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56. Basic circuit of multimeter 

consists of : 

(A)   a. c. amplifier  

(B) d. c. amplifier 

(C) Operational amplifier 

(D) Power amplifier 

 56. eYVhehVj dk cqfu;knh ifjiFk fuEu ls cuk 

gksrk gS % 

(A) a. c. izo/kZd 

(B) d. c. izo/kZd 

(C) vkWijs’kuy izo/kZd 

(D) ‘kfDr izo/kZd 

57. An oscilloscope indicates : 

(A)   RMS value of A.C. voltage  

(B) d.c. or a.c. current  

(C) Peak to peak value of a 

voltage 

(D) None of these 

 57. ,d nksyun’khZ n’kkZrk gS % 

(A) RMS eku A.C. oksYVst dk 

(B) d.c. rFkk a.c. /kkjk 

(C) oksYVst dh f’k[kj ls f’k[kj rd eku 

(D) buesa ls dksbZ ugha 

58. Electronic multimeter measures :   

(A)   Voltage, current and 

resistance  

(B) Voltage and current 

(C) Current and power 

(D) Energy and power 

 58. bysDVªkWfud eYVhehVj ukirk gS % 

(A) oksYVst] /kkjk vkSj izfrjks/k 

(B) oksYVst rFkk /kkjk 

(C) /kkjk rFkk ‘kfDr 

(D) ÅtkZ rFkk ‘kfDr 

59. The material used to coat inner 

side of CRT is : 

(A)   Germanium 

(B) Carbon 

(C) Sulphur 

(D) Phosphor 

 59. CRT ds vUnj dh rjQ ftl inkFkZ dk 

ysi fd;k tkrk gS] mls dgrs gSa %  

(A) tesZfu;e 

(B) dkcZu 

(C) lYQj 

(D) QkWlQj 
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60. A Voltmeter should have 

following resistance : 

(A)   Zero 

(B) Very high 

(C) Very low 

(D) None of the above 

 60. ,d oksYVehVj esa fuEu izfrjks/k gksuk pkfg;s% 

(A) ‘kwU; 

(B) vf/kd mPp 

(C) cgqr de 

(D) mijksDr esa ls dksbZ ugha 
61. At absolute zero temp, the valence 

band of pure or intrinsic 

semiconductor is : 

(A)   Completely full 

(B) Completely empty 

(C) Half full 

(D) None of the above 

 61. ije ‘kwU; rki ij] ‘kq) ;k vkUrj v/kZpkyd 

dk la;kstdrk cSaM gksrk gS % 

(A) iw.kZ Hkjk gqvk 

(B) djhc djhc [kkyh ;k iw.kZ [kkyh 

(C) v/kZiw.kZ 

(D) mijksDr esa ls dksbZ ugha 

62. In CE amplifier, an emitter 

resistance ܴா is used for : 

(A)   AC signal bypass 

(B) Stabilisation 

(C) Collector biasing 

(D) Higher gain 

 62. CE izo/kZd esa] ,d mRltZd izfrjks/k ܴா dk 

iz;ksx fuEu :i esa gksrk gS % 

(A) AC flXuy ckbZ ikl 

(B) fLFkjhdj.k 

(C) laxzkgd vfHkufr 

(D) mPp ykHk 

63. A network containing circuit 

elements without any energy 

source is : 

(A)   Active network 

(B) Passive network 

(C) Negative network 

(D) Not a network 

 63. ,d latky ;k ra=] ftlesa ifjiFk lnL; ;k 

rRo fcuk fdlh ÅtkZ lzksr ds gks] dgykrk 

gS % 

(A) lfØ; latky 

(B) fuf”Ø; latky 

(C) _.kkRed latky 

(D) latky ugha gS 
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64. In common base pnp transistor 

amplifier, power gain is : 

(A)   ܣ௏ܣ௜ 

(B) ܣ௏
௜ൗܣ  

(C) ܣ௜
௏ൗܣ  

(D) None of these 

 64. mHk;fu”B csl pnp VªkaftLVj izo/kZd esa 

‘kfDr ykHk gksrk gS % 

(A)   ܣ௏ܣ௜ 

(B) ܣ௏
௜ൗܣ  

(C) ܣ௜
௏ൗܣ  

(D) buesa ls dksbZ ugha 

65. For a transistor ߚ = 40 and ܫ஻ =

 : ா isܫ the value of ,ܣߤ 25

(A)   1 mA 

(B) 0.975 mA 

(C) 1.025 mA 

(D) None of these 

 65. ,d VªkaftLVj ds fy;s ߚ = 40 rFkk ܫ஻ =

,ܣߤ 25  % ா dk eku gksxkܫ

(A)   1 mA 

(B) 0.975 mA 

(C) 1.025 mA 

(D) buesa ls dksbZ ugha 

66. For a transistor, the current gain ߙ 

and ߚ are related as : 

(A)   ߙ = 1)ߚ −  (ߙ

(B) ߙ = 1)/ߚ −  (ߙ

(C) ߙ = 1)ߚ +  (ߙ

(D) ߚ = 1)ߙ +  (ߙ

 66. VªkaftLVj ds fy;s /kkjk ykHk ߙ rFkk ߚ 

vkil esa fuEu lEcU/k j[krs gSa % 

(A)   ߙ = 1)ߚ −  (ߙ

(B) ߙ = 1)/ߚ −  (ߙ

(C) ߙ = 1)ߚ +  (ߙ

(D) ߚ = 1)ߙ +  (ߙ

67. Network theorems can be applied 

to networks with : 

(A)   DC source only 

(B) AC source only 

(C) Both AC and DC sources 

(D) None of these 

 67. latky izes; dk iz;ksx mlh latky ;k ra= 

esa djrs gSa ftlesa gksrk gS % 

(A) DC lzksr dsoy 

(B) AC lzksr dsoy 

(C) nksuksa AC rFkk DC lzksr 

(D) buesa ls dksbZ ugha 
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68. In a transistor if ߙ = 0.9,  will ߚ

be equal to : 

(A)   1.0 

(B) 0.09 

(C) 0.90 

(D) 9.0 

 68. ,d VªkaftLVj esa ;fn ߙ = 0.9,  dk eku ߚ

fuEu gksxk % 

(A)   1.0 

(B) 0.09 

(C) 0.90 

(D) 9.0 

69. For full wave rectifier the value of 

ripple factor is :  

(A)   0.521 

(B) 0.835 

(C) 0.482 

(D) 0.185 

 69. iw.kZ&rjax fn”Vdkjh ds fy;s ÅfeZdk ?kVd 

dk eku gS % 

(A)   0.521 

(B) 0.835 

(C) 0.482 

(D) 0.185 

70. Ge transistor are rarely used above 

the temperature of : 

(A)   50°ܥ 

(B) 75°ܥ 

(C) 100°ܥ 

(D) 175°ܥ 

 70. Ge VªkaftLVj dk iz;ksx fuEu rki ds Åij 

dHkh dHkkj fd;k tkrk gS % 

(A)   50°ܥ 

(B) 75°ܥ 

(C) 100°ܥ 

(D) 175°ܥ 

71. The Maximum efficiency of 
halfwave and fullwave rectifier 
are: 
(A)   81.2%, 40.6% 
(B) 40.6%, 81.2% 
(C) 50.8%, 80.3% 
(D) 71.2%, 48.3% 

 71. v/kZrjax rFkk iw.kZrjax fn”Vdkjh dh n{krk 

gS%  

(A)   81.2%, 40.6% 
(B) 40.6%, 81.2% 
(C) 50.8%, 80.3% 
(D) 71.2%, 48.3% 



Series-C B.Sc. – B010201T / K-251 Page - 22 

72. Thevenin’s and Norton circuit are 

equivalent at :  

(A)   No frequency 

(B) All frequencies 

(C) Resonant frequency 

(D) Only at frequencies at which 

these are computed 

 72. FkSofuu rFkk ukWjVu ds ifjiFk vkil eas 

lerqY; ;k cjkcj gksrs gaS % 

(A) dksbZ vkòfr ugha 

(B) lHkh vkòfr;k¡ 

(C) vuqukfnr vkòfr 

(D) dsoy mUgha vkòfr;ksa ij ftl ij os 

x.kuk fd;s x;s gksa 

73. In the circuit, Zener diode is 

always used in : 

(A)   Forward biasing 

(B) Reverse biasing 

(C) Series with load resistance 

(D) None of these 

 73. ifjiFk esa tsuj Mk;ksM dk iz;ksx fuEu esa 

ges’kk gksrk gS % 

(A) vxz vfHkufr esa 

(B) i’p vfHkufr esa 

(C) yksM izfrjks/k ds Js.kh Øe esa 

(D) mijksDr esa dksbZ ugha 

74. Superposition theorem can be 

applied to circuit having : 

(A)   Non-linear elements 

(B) Passive elements 

(C) Linear elements 

(D) Resistive elements 

 74. lqijiksth’ku izes; dk iz;ksx ml ifjiFk esa 

djrs gaS ftlesa gksrs gSa % 

(A) vjs[kh; ;k xSj js[kh; lnL; 

(B) fuf”Ø; lnL; 

(C) js[kh; lnL; 

(D) izfrjks/kh lnL; 

75. A load line is a graph between : 

(A)   ܫ஼ and ஼ܸ஼ 

(B) ܫ஼ and ஼ܸா 

(C) ܫா and ாܸா 

(D) ܫ஼ and ஻ܸா 

 75. ,d Hkkj js[kk fuEu ds chp xzkQ gS %  

(A)   ܫ஼ rFkk ஼ܸ஼ 

(B) ܫ஼ rFkk ஼ܸா 

(C) ܫா rFkk ாܸா 

(D) ܫ஼ rFkk ஻ܸா 
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76. In forward biasing, a diode appears 

as a :  

(A)   Open switch 

(B) Close switch 

(C) Capacitor 

(D) A high resistance 

 76. vxz vfHkufr esa ,d Mk;ksM fuEu :i esa 

dk;Z djrk gS % 

(A) [kqyk fLop 

(B) cUn fLop 

(C) la/kkfj= 

(D) ,d mPp izfrjks/k 

77. Wein’s bridge can be used for 

measuring : 

(A)   Harmonic distortion 

(B) Resistance 

(C) Frequency 

(D) None of these 

 77. ohu~ fczt dk iz;ksx fuEu ds ukius esa fd;k 

tkrk gS % 

(A) ljy fo:i.k ;k foÑfr 

(B) izfrjks/k 

(C) vkòfr 

(D) buesa ls dksbZ ugha 

78. The pointy intersection of d. c. and 

a. c. load line represents :  

(A)   Current gain 

(B) Voltage gain 

(C) Operating point 

(D) None of the above 

 78. d. c. rFkk a. c. Hkkj js[kkvksa dks vkil eas 

dkVus okyk fcUnq fuEu iznf’kZr djrk gS % 

(A) /kkjk ykHk 

(B) oksYVst ykHk 

(C) dk;Zdkjh fcUnq 

(D) mijksDr esa ls dksbZ ugha 
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79. Which one of diode is used for 

detecting light signal : 

(A)   Photo diode 

(B) L.E.D. 

(C) Zener diode 

(D) Tunnel diode 

 79. fuEu esa ls dkSu lk Mk;ksM izdk’k flXuy 

dk irk yxkrk gS % 

(A) QksVks Mk;ksM 

(B) ,yŒ bZŒ MhŒ 

(C) tsuj Mk;ksM 

(D) Vuy Mk;ksM 

80. Phase reversal is possible in : 

(A) CB 

(B) CE 

(C) CC 

(D) Both in CB and CC 

 80. dykUrj fuEu esa lEHko gS % 

(A) CB 

(B) CE 

(C) CC 

(D) CB rFkk CC nksuksa esa 

81. The forward biasing of p-n 

junction makes the junction 

resistance : 

(A)   Low 

(B) High 

(C) Infinite 

(D) None of the above 

 81. p-n lfU/k dh vxz vfHkufr lfU/k ds izfrjks/k 

dks djrh gS % 

(A) uhpk ;k de 

(B) mPp ;k T;knk 

(C) vuUr 

(D) mijksDr eas ls dksbZ ugha 

82. For a transistor ܫ஼ = ஻ܫ ߚ +......... 

(A)   ܫ஼ 

(B) ܫ ߙா 

(C) ܫ஼ாை 

(D) ܫ஼஻ை 

 82. VªkaftLVj ds fy;s ܫ஼ = ஻ܫ ߚ +......... 

(A)   ܫ஼ 

(B) ܫ ߙா 

(C) ܫ஼ாை 

(D) ܫ஼஻ை 
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83. The height of potential barrier for 

silicon is about : 

(A)   0.7 V 

(B) 0.3 V 

(C) 0.5 V 

(D) 0.6 V 

 83. flfydkWu ds fy;s izkphj foHko dk eku gksrk 

gS % 

(A)   0.7 V 

(B) 0.3 V 

(C) 0.5 V 

(D) 0.6 V 

84. The bridge which is used for the 

accurate measurement of small 

capacitance is :  

(A)   Maxwell’s bridge 

(B) Anderson’s bridge 

(C) De-Sauty bridge 

(D) Schering bridge 

 84. oks fczt] tks NksVh /kkfjrk dks lcls mi;qDr 

ukirk gS] dgykrk gS % 

(A) eSDlosy fczt 

(B) ,.Mjlu fczt 

(C) Mh&lkVh fczt 

(D) ‘ks;fjax fczt 

85. Which of the following is not 

correct relation : 

(A)   ܫ஼ாை = ߚ) +  ஼஻ைܫ(1

(B) ܫ஼ = ஻ܫߚ +  ஼ாைܫ

(C) ߛ = ఈ
ଵାఈ

 

(D) ܫ஼ = ாܫߙ +  ஼஻ைܫ

 85. fuEu esa ls dkSu lk lEcU/k lgh ugha gS % 

(A)   ܫ஼ாை = ߚ) +  ஼஻ைܫ(1

(B) ܫ஼ = ஻ܫߚ +  ஼ாைܫ

(C) ߛ = ఈ
ଵାఈ

 

(D) ܫ஼ = ாܫߙ +  ஼஻ைܫ

86. Photo diode works in : 

(A)   Forward biasing  

(B) Reverse biasing 

(C) Zero biasing 

(D) None of the above 

 86. QksVks Mk;ksM fuEu esa dk;Z djrk gS % 

(A) vxz vfHkufr 

(B) i’p vfHkufr 

(C) ‘kwU; vfHkufr 

(D) mijksDr esa ls dksbZ ugha 
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87. In a transistor, the no. of p. n. 

junctions are : 

(A)   Two 

(B) Three 

(C) One 

(D) Zero 

 87. ,d VªkaftLVj esa] p. n. lfU/kvksa dh la[;k 

gksrh gS % 

(A) nks 

(B) rhu 

(C) ,d  

(D) ‘kwU; 

88. Maxwell’s bridge is used for the 

measurement of : 

(A)   Inductance only 

(B) Capacitance only 

(C) Both inductance and 

capacitance 

(D) Frequency of a. c. supply 

 88. eSDlosy fczt dk iz;ksx fuEu ds ukius esa 

fd;k tkrk gS % 

(A) izsjdRo dsoy 

(B) /kkfjrk dsoy 

(C) izsjdRo rFkk /kkfjrk nksuksa 

(D) a. c. lIykbZ dh vkòfÙk 

89. Addition of impurity in pure 

semiconductor is known as : 

(A)   Doping 

(B) Re Combination 

(C) Annihilation 

(D) None of the above 

 89. ‘kq) v/kZpkyd esa v’kqf) feykus dh fØ;k 

dks dgrs gSa % 

(A) vifeJ.k ;k v’kqf) 

(B) iqulZa;kstu 

(C) fouk’k 

(D) mijksDr esa ls dksbZ ugha 

90. In RC circuit, the transient current 

is maximum at : 

(A)   ݐ = 0 

(B) ݐ = ∞ 

(C) ݐ =  ܥܴ

(D) ݐ = ቀଵ
௘
ቁܴܥ 

 90. RC ifjiFk esa {kf.kd /kkjk fuEu ij 

vf/kdre gksrh gS % 

(A)   ݐ = 0 

(B) ݐ = ∞ 

(C) ݐ =  ܥܴ

(D) ݐ = ቀଵ
௘
ቁܴܥ 
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91. Reverse saturation current in 

silicon junction nearly doubles for 

every : 

(A)   5°C rise in temperature 

(B) 10°C rise in temperature 

(C) 5°C decrease in temperature 

(D) 10°C decrease in temperature 

 91. flfydkWu lfU/k esa i’p larÌr /kkjk yxHkx 

nqxuh gks tkrh gS tc % 

(A) 5°C rki c<+rk gS 

(B) 10°C rki c<+rk gS 

(C) 5°C rki ?kVrk gS 

(D) 10°C rki ?kVrk gS 

92. Time constant of L-R circuit is : 

(A)   LR 

(B) ܮൗܴ  

(C) ܴ
ൗܮ  

(D) None of these 

 92. L-R ifjiFk dk le; fLFkjk¡d gksrk gS % 

(A)   LR 

(B) ܮൗܴ  

(C) ܴ
ൗܮ  

(D) buesa ls dksbZ ugha 

93. The width of the depletion layer of 

an unbiased p.n. junction diode is 

of the order of : 

(A)   1 ݉ߤ 

(B) 1 ݉݉ 

(C) 1 ܿ݉ 

(D) 1 ݊݉ 

 93. vukfHkur p.n. lfU/k Mk;ksM ds vo{k; irZ 

dh eksVkbZ fuEu dksfV dh gksrh gS %  

(A)   1 ݉ߤ 

(B) 1 ݉݉ 

(C) 1 ܿ݉ 

(D) 1 ݊݉ 

94. The Schering bridge is used to 

measure : 

(A)   Resistance 

(B) Inductance 

(C) Power 

(D) Capacity 

 94. ‘ks;fjax fczt dk iz;ksx fuEu ds ukius esa 

fd;k tkrk gS % 

(A) izfrjks/k 

(B) izsjdRo 

(C) ‘kfDr 

(D) /kkfjrk 
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95. The width of the depletion layer of 

a junction :  

(A)   Increases as reverse voltage 

increases 

(B) Increases as forward voltage 

increases 

(C) Decreases as reverse voltage 

increases 

(D) None of the above 

 95. lfU/k ds vo{k; irZ dh eksVkbZ % 

(A) i’p oksYVst ds c<+us ij c<+rh gS 

(B) vxz oksYVst ds c<+us ij c<+rh gS 

(C) i’p oksYVst ds c<+us ij ?kVrh gS 

(D) mijksDr esa ls dksbZ ugha 

96. In series LCR circuit, if ଵ
௅஼

= ோమ

ସ௅మ
, 

the circuit is : 

(A)   Dead beat 

(B) Critically damped 

(C) Oscillatory 

(D) None of the above 

 96. Js.khØe LCR ifjiFk esa ;fn ଵ
௅஼

= ோమ

ସ௅మ
] 

rc ifjiFk gksxk % 

(A) :) nksy 

(B) Økafrd voeafnr 

(C) nksfy= 

(D) mijksDr esa ls dksbZ ugha 

97. When germanium crystal is doped 

with phosphorous atoms, it 

becomes : 

(A)   p-type semiconductor 

(B) n-type semiconductor 

(C) Conductor 

(D) An insulator 

 97. tc tesZfu;e fØLVy esa QklQksjl ijek.kq 

dh v’kqf) feyk nh tkrh gS] ;g gksrk gS % 

(A) p-Vkbi v/kZpkyd 

(B) n-Vkbi v/kZpkyd 

(C) pkyd 

(D) ,d dqpkyd 
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98. In the following which is not the 

dimension of time : 

(A)   ௅
ோ
 

(B) ܴܥ 

(C) √ܥܮ 

(D) ோ
௅
 

 98. fuEu esa ls dkSu le; dh foek ugha gS % 

(A)   ௅
ோ
 

(B) ܴܥ 

(C) √ܥܮ 

(D) ோ
௅
 

99. In p type semiconductor :  

(A)   Electrons are majority charge 

carries. 

(B) Holes are majority charge 

carries. 

(C) Photons are majority charge 

carries. 

(D) None of these 

 99. p type ¼Vkbi½ v/kZpkyd esa % 

(A) bysDVªkWu cgqla[;d vkos’k okgd gksrs 

gaSA 

(B) fooj cgqla[;d vkos’k okgd gksrs gSaA 

(C) QksVku cgqla[;d vkos’k okgd gksrs 

gSaA 

(D) buesa ls dksbZ ugha 

100. The signal of which waveform is 

to be observed on the screen of 

CRO is applied : 

(A)   Across its X-plates 

(B) Across its Y-plates 

(C) Across a time base 

(D) To the horizontal amplifier  

 100. CRO ds insZ ij ftl flXuy dh rjax ;k 

fp= ns[kuk gksrk gS] mls fuEu ij yxkrs gS% 

(A) blds X-IysVks ds vkjikj 

(B) blds Y-IysVks ds vkjikj 

(C) Vkbe csl ds vkjikj 

(D) {kSfrt izo/kZd ij 

****** 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, which is divided into 2 

sections. Kindly attempt any 37 questions from section 1st and any 38 

questions from section 2nd. In this way examinee has to attempt only 75 

questions in total. Every question has 4 options and only one of them is 

correct. The answer which seems correct to you, darken that option 

number in your Answer Booklet (O.M.R ANSWER SHEET) 

completely with black or blue ball point pen. If any examinee will mark 

more than one answer of a particular question, then the answer will be 

marked as wrong.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination, please hand over the O.M.R. SHEET to 

the Examiner before leaving the examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one. 


